

January 3, 2001 Final Exam. Solution Key Math. 101 1. (a) $\lim_{x \to -3} \frac{1 - \cos(x+3)}{x^2 + x - 6} = \lim_{(x+3) \to 0} \frac{1 - \cos(x+3)}{(x+3)} \times \lim_{x \to -3} \left(\frac{1}{x-2}\right) = 0.$ (b) $\lim_{x \to 0^+} f(x) = -1$, $\lim_{x \to 0^-} f(x) = -2 \Longrightarrow f$ has jump discontinuity at x = 0 $\lim_{x \to 3} f(x) = 2, f(3) \text{ is } UD \Longrightarrow f \text{ has removable} \text{ discontinuity at } x = 3$ $\lim_{x \to 1^+} f(x) = +\infty, \lim_{x \to 1^-} f(x) = -\infty \Longrightarrow f \text{ has infinite discontinuity at } x = 1$ 2. (a) $f'(x) = 3x^2 + \frac{1}{4}\sec^2\left(\frac{\pi x}{8}\right)\tan\left(\frac{\pi x}{8}\right), f'(2) = \frac{25}{2}, \Delta x = 0.01$ $\Delta y \simeq dy = f'(2)(0.01) = \boxed{\frac{1}{3}}$ (b) f is continuous on [-2, 2], f is differentiable on (-2, 2) and f(-2) = 8 = f(2)then f satisfies the requirements of Rolle's theorem on [-2, 2], $f'(x) = 2x - \frac{4x}{\sqrt{5-x^2}}$. From Rolle's theorem $\exists c \in (-2,2)$ such that f'(c) = 0, $2c - \frac{4c}{\sqrt{5-c^2}} = 0 \Longrightarrow \boxed{c = 0, \pm 1 \in (-2,2)}.$ 3. Let D be the distance between P(5,0) and the point (x, y) on the graph of the equation $\frac{x^2}{4} - y^2 = 1$. So, $D^{2} = f(x) = (x-5)^{2} + (y-0)^{2} = (x-5)^{2} + \left(\frac{x^{2}}{4} - 1\right), f'(x) = \frac{5}{2}x - 10,$ $f''(x) = \frac{5}{2} > 0$. Thus, f is minimaum at $x = 4, y = \pm\sqrt{3}$. And hence, D is minimaum at $x = 4, y = \pm\sqrt{3}$ i.e., at $\boxed{(4,\sqrt{3})}$ and $(4,-\sqrt{3})$. 4. (a) $f_{av} = \frac{1}{6} \int_{-\infty}^{3} (x^3 + \sin x) dx = [0]$, since $(x^3 + \sin x)$ is odd function. (b) $f'(x) = 2x\sqrt{\sin^2 x^2 + 7x^{12}} - 3\sqrt{\sin^2 3x + 7(3x)^6}$ 5. (a) $\int \left(x + \sqrt{3}\sqrt{x}\right) dx = \left|\frac{x^2}{2} + \frac{2\sqrt{3}}{3}x^{\frac{3}{2}} + C\right|$ (b) Put $u = \cos 2x \Rightarrow du = -2\sin 2x \, dx$ and $u(0) = 1, u\left(\frac{\pi}{4}\right) = 0$, Fut $u = \cos 2$. $\int_{0}^{\pi/4} \sin 2x \cos^{7} 2x \, dx. = -\frac{1}{2} \int_{1}^{0} u^{7} \, du = -\frac{1}{2} \left[\frac{u^{8}}{8} \right]_{1}^{0} = \frac{1}{16}.$ $\int_{0}^{\pi/4} \int_{0}^{\pi/4} \left[\frac{1}{16} \right]_{1}^{0} = \frac{1}{16}.$ $\int_{0}^{\pi/4} \left[\frac{1}{16} \right]_{1}^{0} = \frac{1}{16}.$ 6. (a) $R = 2A = 2 \int_{0}^{1} (x - x^{3}) dx = \boxed{\frac{1}{2}}.$ (b) $y' = \frac{1}{4}x^3 - \frac{1}{x^3}, 1 + (y')^2 = \left(\frac{1}{4}x^3 + \frac{1}{x^3}\right)^2, \sqrt{1 + (y')^2} = \left|\frac{1}{4}x^3 + \frac{1}{x^3}\right| = -\left(\frac{1}{4}x^3 + \frac{1}{x^3}\right)$ $L_{-2}^{-1} = \int_{-1}^{-1} \sqrt{1 + (y')^2} dx = -\int_{-1}^{-1} \left(\frac{1}{4}x^3 + \frac{1}{x^3}\right) dx = \left[\frac{x^4}{16} - \frac{1}{2x^2}\right]_{-1}^{-2} = \boxed{\frac{21}{16}}.$

7. (a) Volume of disk = $\pi (x^2 + 3)^2 dx$ $V = \pi \int_0^2 (x^2 + 3)^2 dx$. (b) Radius of cylindrical shell = x + 5. Volme of cylindrical shell = $2\pi (x + 5) (x^2 + 3) dx$ $V = 2\pi \int_0^2 (x + 5) (x^2 + 3) dx$.